





Safety Information

As an owner or operator of the TB 220™ Turf Brush, it is extremely important that you
read and understand the contents of this manual before attempting to use the brush. The
operator is ultimately responsible for his/her safety as well as the safety of others nearby.
Any piece of equipment with moving parts is potentially hazardous. There is no substitute
for an operator who recognizes the potential hazards and follows sensible safety
practices.

Equipment Safety Guidelines

s Read and understand the owner’s manual before attempting to use the brush.

= Do not consume alcoholic beverages or drugs while operating the TB 220™ Turf
Brush. Consult your doctor about any prescription medications before operating
the unit.

= Keep all safety devices, guards, and decals in place and functional. Replace or
repair any items as needed before operation.

= Review all safety instructions with all users on an annual basis.

= Wear approved safety shoes and safety glasses when using the unit.

= Keep unauthorized people away from the areas of operation.

= Never allow children to operate the brush.

= Do not wear loose clothing that could become entangled in moving parts.

= Be sure the work area is free of debris and loose objects.

= The brush is not intended for riders.

= Raise the brushes off the ground properly for transport to prevent damage.

= Avoid excessive speed during operation. Use extreme caution and maintain
minimum speed when traveling on hillsides, rough terrain, or near drop-offs. Do
not make sharp turns and/or traverse steep slopes. Care should be used when
traveling up or down hills.

=  Shut off the tow vehicle and set the parking brake when leaving the brush
unattended.

= Never work under any equipment unless it is blocked up correctly.

= Check and tighten all fasteners as needed.

= The warranty and the liability of the manufacturer are voided if any alteration of
the equipment is performed.

=  The TB 220™ Turf Brush should be stored away in a safe location after use. If you
are storing the unit on the rear bumper, be sure the ground is level and able to
support the brush. A concrete floor is recommended. Brace the unit to an
adjacent wall to eliminate possible tipping.

TB 220™Turf Brush Owner’s Manual Rev G Copyright 2022 Dakota Inc Page 3 of 11












Bill of Materials

Iltem No. Part Number Description Quantity
1 23564 Hitch Arm Tube 1
2 23565 Brush Assembly 2
3 23566 Clevis Pin, .50x 2.75 1
4 23567 Clevis Pin, .50 x 3.5 1
5 23568 Spacer, Actuator 2
6 23569 Cotter Pin, Bow Tie 2
7 23570 Pin, Wire Locking 6
8 23571 Brush Drive Tire 2
9 23572 Sprocket, Idler, 17 Tooth .635 Bore 4
10 23573 Sprocket, Drive Wheel, 16 Tooth 1.0 Bore 2
11 23574 Spacer, Drive Wheel 4
12 23575 Bearing Seal 4
13 23576 Bearing Race 4
14 23577 Bearing, Drive Wheel 4
15 23578 Key, .25 x 1.25 2
16 23579 Sprocket, Brush, 36 Tooth 1.0 Bore 2
17 23580 Hex Nut, Locknut, 3/8-16 6
18 23581 Carriage Bolt, 5/16-18 x .75 32
19 23582 Hex Nut, Keps, 5/16-18 32
20 23583 3/8-16 x 2.5 HH Cap Screw 2
21 23584 External Retaining Ring (through SN: 1452) 4
23677 1/2-13 Locknut (after SN: 1452)
22 23585 Tube Cap, Square 1
23 23586 Brush Drive Wheel Lug Nut, 1/2-20 8
Not Shown 23587 Fuse, 25 Amp Mini ATM Automotive 1
24 23588 Hitch Weldment 1
25 23589 Cam, Height Stop 4
26 23590 Bearing, Flanged 8
27 23591 3/4-16 Castle Nut 2
28 23592 Cotter Pin 2
29 23593 1/2 Diameter Shoulder Screw 4
30 23594 Actuator TB220 1
31 23595 Tube Cap, Rectangular 2
32 23596 1/4-20 x .50 BH Machine Screw 8
33 23597 Key, .25x.75 2
34 23598 Chain W/ Master Link 2
35 23599 Chain Cover 2
36 23600 Frame Weldment 1
37 23601 Brush Support Weldment, Floating 2
38 23602 Brush Support Weldment, Driving 2
39 23603 Actuator Tube Weldment, Front 1
40 23604 Actuator Tube Weldment, Rear 1
41 23605 Brush Drive Axle Weldment 2
42 23606 Tensioner Shaft Weldment 2
See Page 8 23607 Control Box Harness with 4 connector plug 1
See Page 8 23608 Tow Vehicle Harness — Battery clips 1
See Page 8 23609 Brush Frame Harness 1
Not Shown 23658 Control Box only — no wiring 1
43 25E20 7/16 x 1.25 Flat Washer 2

TB 220™ Turf Brush Owner’s Manual Rev G Copyright 2022 Dakota Inc Page 7 of 11









Declaration of Conformity

Dakota, Inc declares that the product detailed below complies with the requirements of
the following EU directives:

= Machinery Directive 2006/42/EC

= Electromagnetic Compatibility Directive 2004/108/EC

Equipment description: Commercial Turf Brush
Model Number: TB 220™ Turf Brush

Compliance with the essential health and safety requirements has been assessed with
reference to the following harmonized standards:
= EN ISO 12100:2010 — Safety of machinery — General principles for design — Risk
assessment and risk reduction.

Technical documentation for the equipment is maintained by the manufacturer and a
copy kept by the EU authorized representative.

Signed on behalf Signed on behalf of the EU
of the manufacturer authorized representative
e i E
. e r;ﬁ{wc—:’w y (W”
Kevin Pierce
President
March 2022
Dakota, Inc

Po Box 14088

Grand Forks ND 58201
United States of America
218-773-6000

Statement of Policy

Dakota, Inc has always taken the initiative to improve its products where possible and
practical to do so. Dakota, Inc reserves the right to make changes and improvements to
the design and construction at any time without incurring the requirement to make these
changes on previously manufactured products.

TB 220™ Turf Brush Owner’s Manual Rev G Copyright 2022 Dakota Inc Page 10 of 11




Limited Warranty

Dakota, Inc (supplier) makes no representations or warranties, express or implied
(including implied warranties of merchantability or fitness), except equipment shall be
warranted against faulty workmanship and material for two (2) years from date of
purchase. All parts supplied by other manufacturers which are used on supplier’s
equipment will carry the manufacturer’s warranty only. The distributor agrees to deliver
to purchasers at the time of each sale the documents containing the express limited
warranty. The distributor is not authorized to assume for supplier any additional
obligations or liabilities in connection with the sale of equipment, and the distributor
agrees not to do so. Supplier and distributor shall promptly fulfill their respective
obligations with respect to any warranty claims.

The obligation of the supplier under this warranty is limited to providing for the repair or
replacement, in accordance with the warranty adjustments policies of the supplier, of any
part or parts that prove, in the supplier’s judgment, to be defective in material or
workmanship within two (2) years after delivery of equipment to the original purchaser.

This warranty shall be void if any part or parts not manufactured or provided by the
supplier are used either in maintaining or servicing of the equipment covered by this
warranty. No warranty whatsoever is made on used, second-hand, altered or rebuilt
equipment.

Responsibility

The supplier does not accept any responsibility for damage or harm caused by not strictly
observing the safety requirements and instructions detailed in this manual. The
manufacturer cannot be liable for damage, injury, or consequential loss resulting from
use or servicing by unqualified personnel. The manufacturer will also not be liable for
damage, injury, or consequential loss resulting from inappropriate operation or
modification of the equipment.

TB 220™ Turf Brush

Made with pride in the USA

U.S. Patent No. 9,185,850

TB 220™ Turf Brush Owner’s Manual Rev G Copyright 2022 Dakota Inc Page 11 of 11




